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Bluet - Buffers Exploration < Cl 0\ |.&E- 5

Procedure (Teacher Demo):

= P'\ f ’\OF}([IB E"5)

Obtain two beakersj 5DmL MSWA ~PO mb. Sotn '
Add water to one and the 0.10 M HC;H303/CzH30;” buffer system to the other - L1 . f("“\
Add thymol blue indicator to each. [’Z Aropﬂ
Add 0.10 M HCl dropwise to the water.

a. Students: Predict how many drops of acid it will take to change the color of the water solution
5. Add 0.10 M HCi dropwise to the buffer.

a. Students: Predict how many drops of acid it will take to change the color of the buffer solution

6. Repeat Steps 1-5 with the same solutions, but adding 0.10 M NaOH dropwise
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1. Describe how a buffer system is effective at maintaining a constant pH when strong acid/base is added (use
~ relevant chemical reactions as part of your explanation).
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2. Describe buffer capacity. (What does it mean to exceed the buffer capacity? How can we increase the buffer
capacity?) ' A
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3. The buffer is made from equal volumes 0.10 M acetic acid and 0.10 M sodium acetate. Given this, the
HC.H30,/C,H30; ratio is equal to 1, What color was the solution at this point in time?

Hﬁﬁi%_ﬁ\ > pil = p{(@ ""lcﬁ(! Be- 6} 4.1

CZ H3 b; @aﬁ je,\ f

4. When strong acid is added to the buffer, is the HC2H302/C2H3 0, ratio greater than, less than, or equal to 1?
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5. When strong base is added to the buffer, is the HC2H302/C;H30; ™ ratio greater than, less than, or equal to 1?
?
What color is the solution? -—> Color = \O‘U\ﬁ .
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6. Given a solution of only acetic acid {Ka = 1.8 x 10™%), is the HC;H302/C,H30;" ratio greater than, less than, or
equal to 1? What color is the solution? ——s &o' of = rQ (k ; :
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